GEPEAE —-TEER F- 5P TEIE #% b x

R FLw] ML) rTy Fa: i
FLu| ook P EERTE 3 S5 3 RKEF
LA
1. (20%)
58 % [ 51 HEME =& S {BHEME PR (A
x By [Hlj5k

X-y=#0,x,yeN

2. (10%) LIFAEEsHE X ={1,23} L/

(1) {(1.1).(1.2),(2,2),(2,1),(3,3)} (2){(2.1).(2.2),(1,2),(3,3)}

(3) {11, (1.2).(2.2),(3.3)} (4){(1.1).(2.1),(2,2),(2,3),(1,3),(3.3)}
(a) o[ R ERA (& 2

(b) {71 Ry ER 3 HEFY 2

3. (20%) 4 M ={a,b,c,d} EFEM FHIRIE R ={(a.d),(b.c),(d,a)}
(1) RAVRZEFEA%E =

(2) REVESTHEEASE

(3) REYEHIERA

-
(4) REYSZEHEIERASE =

4. (20%) (a) EHIEEE {1.2,3,4,5,6,7,8,9,10} | "BREeH (5 2 Hor HRFr [ -

(b) A - 3T ZANE RN RN

5 (10%) 4 A={23456,789,10} * R BiEslE AL 2 TRHIGHIT :(x,y)eR< y=kqkeN -
R =

6. (10%) g5t LI (ERE (% = (mod 6) AYZEELEN -5 & -

7. (10%) FEERBEREYER{{1,23.{3}.{4.5}p AIBLIERBHR -




